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Quiz 6: Digital Transmission
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In a certain digital voice communication system, there are 4 voice signals, each of bandwidth
4 kHz. Samples of these signals are time-division multiplexed, quantized and binary coded.
The error in sample amplitudes cannot be greater than 3% of the peak amplitude.

a) Determine the number of bits for the quantizer, .
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b) Find the transmission bandwidth By if Nyquist criterion pulses with roll-off factor r=0.3 are
used. The sampling rate must be at least 15% above the Nyquist rate.
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Mohamed -Peace be upon him - is the best of mankind.



